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CSE 2022 : MAIN TEST SERIES

Test -6
ELECTRICAL Full Syllabus Test

ENGINEERING Paper-I1

Time Allowed : Three Hours Maximum Marks: 250 |

GENERAL INSTRUCTIONS

There are EIGHT questions divided in TWO SECTIONS. Candidate has to attempt FIVE
questions in all. Question no. 1 and 5 are compulsory and out of remaining, THREE are to be
attempted choosing at least ONE from each section.

This Question-cum Answer Booklet (QCAB) contains 73 pages. Immediately on receipt of the
booklet, please check that this booklet does not have any misprint or torn or missing pages
etc. If 50, get it replaced by a fresh booklet.

Candidates must read the instructions on this page and the following pages carefully before
attempting the paper.

Candidates should attempt the questions strictly in accordance with the instructions specified
in the question paper and in the space prescribed under each question in the booklet. Any
answer written outside the space allotted will not be given credit. :

Question paper will be provided separately and can be taken by the candidates after conclusion
of the exam. |
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\ single-phase 50 Hz power line

is supported on a horizontal cross-arm., The
the conductors is 3 m. A tele

phone line is supported symmetrically be

Calculate the mutual inductance betwe
voltage induced per Kilometer in the telephone

Assume the trlvphmw line current to

spacing between
low the power line as
shown in figure below, en the two circuits and the

line if the current in the power line is 100 A

be zero.
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 transfer function of a unity feedback systerm 15 =7 ™ o(s? + 125+ G2y TR
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. }""* the forward path and feedback path of a control nyqtcm
‘ K l -i
T4
- 1 H(s) = -
;;it+m+m‘m )
ne the values K, @ and b if the Phﬂ"ie margin is 45%, the gain crossover frequmq
__L}.?T" ‘and the phase crossover frequency is 6 rad /sec.

10|

Scanned b;/ TapScanner



Scanned by TapScanner



:F" s
CSE 2022 Main Test Serje,

A S
] - . g
. D R
¥ "E;. &
i 4 r = " .
7V =
(A

e is ‘* erated according to the following parity check m&trﬁ_
1 0 1 0 0]
RSt 0 1 0 1 0
0 1 1 0 0 1]

-

eCeived eword_rY is 1000011 for a transmitted code word X. Find the corresponding
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Section B

i ain the followings things :
{ﬂ Memory mapped [/0.
(ii) Machine cycles of 8085 microprocessor.
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(i) The arms of a four arm

arm da :

A resistance R, in series with a 2 pF capacitance.

bridge abed , supplied with sinusoidal voltage, have the fn]].gwh,é ':. ‘

values :
arm ab A resistance of 200 Q in parallel with a capacitance 1 pF.
arm bc : 400 Q resistance,
arm cd : 1000 Q resistance 3,
¢

Determine the value of R, and the frequency at which the bridge will balance. Also !
derive the equation of balance, if e

Need -—;v balanee tondihm

leﬁ‘x Znﬂ){}og.- lxlﬁ‘xl’oﬂx t) s0
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qe 72 n E x T I n S 8 - ——.
r = ot atan N
.8 (¢) | The line voltages across a three-phase, wye-connected load, consisting of a 10 ohm resistangg

in each phase as shown in figure, are unbalanced such that

V., = 2202131.70° V, V}, = 252£0° V and V,, =195.30£-122.75° V
(i) Determine the sequence phase voltage. Then find the voltage across the 10 £2 resistances,

and
(i1) Calculate line currents.
(Assume abe phase sequence)
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V-V = (Vo 40 Va, 1’,&9@) = (Vag + \a, +)3V¢)
V,_- - V- = 2-
Va | = [Va+ X V)t X Vo, ) = (e, + +\a, )
y, f Vab o X (%4 [ Va
4 R | O @1"9'3 &"?@ | \a,
[ Veu o o-n ()

n,<’
™
\f

Va,

\/ab, S BT Vas
% v (|

Vap, |z 2| | X A be

Vs, B.oam B

Vg, = ﬁ(vﬁx'f}\/hﬂl\/ﬁ)w 2 21,15 [13.04" v
Vay = 4 (Vb AN Vit AVir) = 22,31 [ohoss Y
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